\
/
e ——

E 42
TEXT BOOK EXERCISE 2=

Draw Hisfogram of the Following : 0-50 50-60
‘ . 40-
Q.1. | Marks 0-10 | 10-20 | 20-30 30:0 10 >
No. of students 6 9 et 2% ,

Solution. (i) We represent the marks (Class
intervals) along x-axis with a suitable scale and

the number of students (Frequency) along y-axis
On a suitable scale.

(i) Draw the rectangular bars according to their
values. Taking class intervals as bases and the

coresponding frequencies as heights. We construct
rectangles to obtain the histogram.

N

Q2. | Class Interval | ¢.29 2040

: Frequency - - 15 12

Solution. (i) We represent the class intervals
along x-axis with a suitable scale and the
frequency along y-axis on a suitable scjéle.\i 7

(i) Draw the rectangular bars according to
their values. Taking class intervals as bases and
the coresponding frequencies as heights. We

construct rectangles to obtain the histogram,




Weight (in k
0> N 25-30 | 30-35 | 35-40 | 40-45 45-5‘0_#1 50-55
No. of persons 4 3 2
13 15 10

tion. (i) We represen i :
Golu el t weight (class intervals) along x-axis with a suitable scale and number of
i ons (treq h : 1 Ong y-axis on a suitable scale | |
1.+ gince the scale on x-axis st . ' . ' igi igni
i raph is drawn to scxlIS StalTS a} 25, s0 a kink (break) (V) is indicated near the origin to signify
. ihe lg) A ihenet ale beginning at 25 and not at origin
ngu v ordi 2 ‘
(il gular bars according to their values. Taking class intervals as bases and the

onding frequencies as their hei .
oesP s their height we construct rectangles to obtain the histogram:

Class Intervéls_

| ‘10-15

15-20

35.40 |

26 .

18

Frequency

Solution. (i) We represent class intervals along R
raxis with a suitable scale -and frequency ‘along. i
y-axis on a suitable scale. " £ o
(ii) Since the scale on x-axis starts at 10, so a
kink (break) (V) is indicated pear the origin to signify
that the graph is drawn to scale beginning at 10 and
hot at origin. - ' »

(iif) Draw the rectangular bars according to their .
Values, Taking class intervals as bases and the
®rresponding frequencies as their class intervals we
“Onstruct rectangles to obtain the histogram. .

i




| —
d:5. | Daily carnings ] 450-500 [ 500-550 | 550-600 | 600-650 | 650-700 | 700-750
L(in 3 5 .
Numberlof persons| 16 10 12 20 2
Solution,

(1) We represent daily carning (class intervals)
along x-axis with a suitable scale and number of
persons (frequency) along y-axis on a suitable
scale.

(#7) Since the scale On x-axis starts at 450, so a
Kink (break) ~\)'is indicated near the origin to signify

that the grapl is drawn to scale beginning at 450
and not at origin.

(ii1) Draw the rectangular bars according to their
ues. Taking class intervals as bases and the
corresponding frequencies as their daily earnings we
construct rectangles to obtain the histogram. -

val

Q. 6. In a survey of 20 people, the amount of
money with them is found to be as follows :

104, 98,98, 88, 91,99, 107,109, 116, 121, 121,
133, 146, 159, 172, 185, 197, 209, 225, 108.

Draw a histogram of .the frequency
distribution of above data (taking one of class
intervals 50-100) ' LN

Solution. The minimum and maximum amount

of money in given data are 88 and 225 respectively, |

So, the classes of above data are 50-100, 100-150
and so on. ' : + 5

Thus, the frequency distribution is as given
below : ' SR

Frequency Disttﬁbutio'n Table

Money
50-100 | 5
100150 g i 9
150200 i i
200-250 I 2
‘ | Total R0

table. For this we represent money along x-axis

Now, we shall draw histogram for the above

of class VIII -in

i

ity |

No. of Persons.

and number of people along y-axis on a suitabje
scale. Since the scale on x-axis starts at 50, So 4
Kink is indicated near the origin. Now draw the
re(‘:té"ngular bars according to their values.

WA

Q. 7. The marks obtained by 40 students

\ an €Xamination are given

below : : : ‘
18,8,12,6,8, 16, 12, 5, 23,16, 2, 23,7, 12, 20,

16,9,7,5,6,5,3,13, 21, 13, 20, 15, 7, 1, 21, 20,

18,13,23,15,18,7, 17, 16, 3. l




prepare a frequency distribution using one
of the class as 15-20. Draw histogram also.

Golution. The minimum and maximum marks
i the given data are 1 and 23 respectively. So, the
classes of above data are 0 - 5, 5 - 10, 10 - 15 -
and so on. Thus the frequency distribution is as
given below : -

Frequency Distribution Table

Marks | Tally Marks | Students

0-5 IIf 4

5-10 LR 12

10-15 MI 6

15f20 M m{ 10

20 - 25 Al 8
Total 40

Now, we shall draw histogram for the above
table. We represent the marks along x-axis and the
number of students along y-axis with a suitable
scale. Draw the rectangular bars according to their
values. ' ' :
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'WQ. 8. The following histogram depicts the
marks obtained by 46 students of a class.
Observe the histogram and answer the
following . ' 2 . ! e
(i) What is the class size ?
. (i) How many students obtained less than
20 marks ? 75 e
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(@) How many students obtained 30 or -
~ more marks but less than 60 ?
(iv) If passing marks are 30. What is the
_ number of failures ?
Solution. (i) Class size of all class intervals 1s
10. :
(ii) G students obtained less than 20 marks.
(iii) 15 students obtained 30 or more marks but
less than 60. 5 '
(iv) The number of failures are 16. |
Q. 9. Observe the following histogram and
answer the questions given below :
() What information is given by the
~ graph? oY
(i) Which group has maximum girls ?
(i) How many girls have a height of 145 cm
* and more ? '

Solution. (i) Number of girls with different
heights. ' ;

(ii) Group 140-145 has maximum girls.
(iii) 8 girls have a height of 145 cm and more,

)



Q. 10. The following histogr
frequency distribution of the a
in a school :

() What is the number of eldest and
youngest teachers in the school ?

(@) Which age group teachers are more in
the school and which least ?

(@) What is the class size ?

am shows the
ges of teachers

Solution. (i) The\'_,num‘be_r of eldest teachers =2
The number of youngest teachers = 2 =
(i) More age group is 35—40 GO PR
Least age groups are 20 —25 and 50 — 55.
(zii) The class sizes of all claéSes is 5.
Q. 11. Multiple Choice Questions : e
(A) Below is the histogram depicting
marks obtained by 44 students of a
class ? : ; :

.

|G Histogram is a bay

he followip,
Choose the correct answer of the fo OWing

(i) Whatis the class size ?10

‘ (b)

(a) 5

(¢) 20 (d) 43. |
Write the number of students getting

S highest marks ?
(@ 1 ().2
© 3 (d) 4. /
(iii) How many students get more than g
marks .7
@ 20 (b) 21
" (e) 22 (d) 24.
.(iv), How many students get less than 4
- marks ? :
@ 13 . (b 18
© 8 (@ 10.
.(v) In which class interval number of students
. are maximum ? ;
(@) 2030 (b)) 30-40

L (0) 4050 (d) 90-100.

_» (B) 1n_ a hiS’togram; if all the intervals are of
~ same size, then area of each bar is equal
Pl R e

; '(a)u,Fr‘cquehcy-» S
(b Height of bar
~ (¢) Class Size :
‘ @) 'Cléss Size x Frequency :
ABS. (A)() () 10, (i) (d) 4, (iii) (a) 20,
@)@ 10, (v) (c) 4050,
" (B) (@ Class Size x \Freqli‘ency'» \
" Q.12, State whether

2 L the following statéments
are True or False 3 ’ | s
)] There is no differenc

e between bar graphs
and histograms, '

" (T/F)
graph with gap between
angles. G, '

% )
\

two adjacent rect

‘

(T/F)

ght of rectangle i
(T/F)

'(ii_z') In histogram the hei
. Meaning]ess,
Ans. (i) False (ii) False (iii) False,



